
Power Wedge Installation Instructions 
Only for exterior in-swinging doors 

 
These instructions MUST be followed to ensure proper installation of the Power Wedge.  Make 
certain your door has enough clearance to swing over the striker plate (the piece with two holes), 
that is attached to the floor.  If the door does NOT slide over the striker plate, you can bend the 
upward flange of the striker plate down a small amount to adjust for this clearance.  
 
Parts included:  1 striker plate, 1 triangular wedge, 2 - #10 stainless steel screws and 2 plastic 
plugs. NOTE: Striker plate MUST be securely anchored to floor with the two screws. 
 
Installation Instructions: 
 

1. For Concrete and Quarry Tile Floors:  Place striker plate and triangular wedge about ⅛" 
to ¼" inside of door threshold, at edge under door knob, and make sure the triangular 
wedge will slide over the striker plate when the door is closed. 
 
If the floor is carpeted you will need to set the striker plate on top of the tack-strip that 
secures the carpet. You may have to trim about ½" of the carpet off with scissors or a 
sharp knife to make sure the wedge will engage the striker plate. Mark two holes, and 
drill 1 ¼" deep with a ¼" masonry drill bit. If you encounter steel reinforcing, you will 
need to use a metal drill bit to   drill out the steel. If you encounter gravel, you will need a 
steel punch and   hammer to break the gravel or rocks, to resume drilling. After drilling 
the two 1 ¼" deep holes, place the two plastic plugs (furnished) into the holes, and lightly 
tap them into place, then place the striker plate over the corresponding holes, and screw 
the two #10 stainless steel screws into the plastic plugs. 
 
TOOLS needed: drill, ¼" masonry drill bit, #2 or #3 phillips screw driver, steel punch, 
and hammer, and possibly a ¼" metal drill bit. 

 
2. For Wood Floors:  Follow the above placement procedures, and use a 1/16" or 3/32" 

metal drill bit, to drill two 1" deep pilot holes for the screws. Secure the striker plate with 
two screws. 
 
TOOLS needed: drill, 1/16" or 3/32" metal drill bit, phillips #2 or #3 screw driver. 

 
 
The Power Wedge Lifetime Warranty: This product is warranted to be free of defects and 
workmanship for the life of the product. This warranty is NULL and VOID if this product is used 
for purposes other than what it is intended. Anderson Innovations is not liable for any incidental, 
indirect or consequential damages. 
 

Anderson Innovations Inc., 212 Dawson St., Homer, La. 71040. 
Phone: 318-927-3934 , Email: powerwedge@usa.com 

U.S. Patent #5,199,579 
 


